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Examinee is directed to read carefully the following
instructions :

Examinee must write his/fher Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided 10 the examinee.

Besides filling in the Roll Number, the examinee has lo
put his/her signature on the Answer-Sheel and also fill
other required delails like Name, Roll Number, Question
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filted in by the examines,
his/her Answer Sheel will nol be evaluated.

For each question, there are four alternative answers,
out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Sheet by Black
Ball Pen only.

There are 40 (37+3) pages in this Quaestion-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the tast. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of star of the exam,

This Question Booklet contains 150 questions from
following subjects :

(1) Maths Q.Nos. 1-50
(2) Chemistry  Q.Nos. 51 -100
{3) Physics Q.Nos. 101 -150

Each question carries 1 mark and % mark will be
deducted for each wrong answer.

Possassion and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, eic., are restricled during the examination.

Any leaf from the Question Booklet should not be
delached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examination.
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MATHEMATICS

1. Mr. A and Ms. B are friends. The

probability that they both will have
different birthdays is (ignoring a leap
year)

S

365

2.

365

364

G 365

D) t

A)

B)

. Empirical relationship between the three

measures of central tendencies is
A) 2 mean + mode = 3 median
B) median + mode = 2 mean

C) mean + 2 mode = 3 median
D) mode + mean = 2 median

. A cone of height 24 cm and radius of

base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6 cm

B) 8cm

C) 9cm

D) 3cm

. If two cubes of volume 64 cm? are

joined end to end, then the surface
area of the resulting cuboid is

A} 128 cm?
B) 160 cm?
C) 162 cm?
D) 64 cm?

Page No. 3

i

1.t A 3R §. B g § | 37 Safafy
1 89 i wiftreren @ (e ad o
)

A).I

365
2
365
364
©) 385
D) 1

B)

2. Sefir sgfert it e Tt 3 ofrr S

A) 29H1eq + wgSh = 3 Wi
B)HI@W+E§E$=2W
C) T + 2 Wgeie = 3 Al
D) wgai + HIEA = 2 HIfeH

3. yftrey figh & a4 s vig il F9% 24

it s A s e a2 1
I I [ TF TS 1 AR TR |
el <l Frse = g0t 7

A) 6 1.

B) 8 §.H.

C) o9&

D) 39.1.

4, afe 64 1. 7.3 37T % 2 5T 79
o Rl @ g foan &, oY qfomd e
1 319 AT &

A) 128 9.1f1.2
B) 160 9.1i.2
C) 1624.1.2
D) 64 @.41.2
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5. The area of a quadrant of a circle whose
circumference is 22 cm, is (in cm?)

A 7
8
B) 70
C) 100
D) 11

6. In the figure

and TQ are two tangents to a circle
with centre O, |POQ =110°, then

IPTQ =
A} 60°
B) 70°
C) 80°
D) 90°

7. The angle of elevation of the top of a

tower from a point on the ground, which
is 30 m away from the foot of the tower,
is 30°. Then the height of the tower is,
(in metre)

10
A

' 7
B) 30V3
C) 1043

D) 10 D) 10

5. 2241 oRfY & v gu & CHugutn
goee (3.1.2 ) R
A 77
8
B) 70
C) 100
D) 11

P
6. h
A

Q

fom 4 afe TP aik

TQ %% O ¥ UF 39 W 2 W Y@ g,
IPOQ =110°, @ |PTQ=

A) 60°

B) 70°

C) 80°

D} 90°

7. WaE W O foig @ S % A & amam

¥ 30 . T R, TR F i W = Fw
30° &, < T i S=d R, (e )

A)1Tg

B) 3043
C) 1043
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8. (sec A +tan A) (1 —sin A) =
A) sec A
B) sin A
C) cosec A
D) cos A

9. Value of sin2 63° + sin227° is
A) O
B) 1

C)

D)

NIWw N =

10. If sin 2A =2sin A, then A =
A) 0°
B) 30°
C) 45°
D) 60°

11. If cotd = 78’ then the value of

(1+5sin8) (1-sing)
(1+cos8)(1-cos8)

A) 6%9

50
84
49
64
D) 1

is

B)

C)

8. (secA+tan A) (1 ~-sinA) =

A) sec A
B) sin A
C) cosec A
D) cos A

Sin2 63° + sin227° HM A &
A) 0
B) 1

C)

N w =

D)

10. IR sin2A =2sin AR, T A =

11.

Page No. 5

A) 0°
B) 30°
C) 45°
D) 60°

af coto =77 &,
(1+sin@) (1- sinB)
(1+cos6) (1-coso)

A} 6%9

50
84
49
64
D) 1

FIUAR

B)

C)
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13.

14.

15.

16.

2,

12.

The value of k if the points A(2, 3),

B(4, k), C(6, — 3) are collinear, is
A) 10

B) -1

C) 1

D)o

If the points A(6, 1), B(8, 2), C(9, 4),
D(p, 3) are the vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6
D) 10

The ratio in which the line joining the
points (5, 6) and (—1, —4) is divided by
y axis is

A) 5:1

B) 3:2

C)5:2

D)1:5

ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A) 2:1
B)1:2
C) 4:1
D)t:4

if the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is

A) 38
B) 35
C) 30
D) 40

Page No. 6

12. @f¢ fag A(2, 3), B(4, k), C(6, - 3)
TfEw g, kAR
A) 10
B) -1
C) 1
D) O

13. afz &g A6, 1), B(8, 2), C(9, 4),
D(p, 3) Tk TR e & ¥iid § afK
wAUE, ApFAAR
A) 7
B) -7
C) 6
D) 10

14, fagait (5, 6) 3R (-1, ~4) = Fgawh
Ya =y 318 g b ST 3 e e 7
A) 5:1
B) 3:2
C)5:2
D)1:5

15. ABC 3fit BDE <\ waTg finfst 78 TR §
f&% BC =1 weafiig D 2 | fn ABC 3R
BDE % &=I%et %1 1501 &

A) 2:1
B)1:2
C)4:1
D) 1:4

16. iR wF gwiax Avlt o wew 3 3ifow 92
HUET: 17 31 350 & 3R oW 3Fae 9
g, AR faEn
A) 38
B) 35
C) 30
D) 40
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17. The sum of first 15 muitiples of 8 is 17. 8 % 9 15 o0 ST AFT R

A) 240 A) 240
B) 960 B) 960
C) 800 C) 800
D) 690 D) 690

18. A sum of Rs. 700 is to be used fo give 18. %. 700 < Uiy ua ferener & Rrenfifai =t

seven cash prizes to students of a I7ehi Dl et & foe aa 76
s.;chool fon: the'ir academic excell?nce. qrERR 31 % R v <t 7 | AR TR
| each.pnze .IS Rs. 20.Iess t‘han its T I TER T 5. 20FA A,
preceding prize then first prize amount N iy 2t 7
is ToH JERR E&ll f
A) Rs. 140 A).3- 149
B) Rs. 150 SR
C) Rs. 160 B!
D) Rs. 120 Byje 310
19. The number of 3 digit numbers 19. o st it el Ted 7 A w2 7

divisi .

ivisible by 7 is A) 126
A) 126

B) 128

B) 128
C) 130 C) 130
D) 127 D) 127

20. The 20™ term from the last term of the 20. F&«i 3, 8, 13, ...., 263 H W w@ A

sequence 3, 8, 13, ...., 253 is 20afug &
A) 140 A) 140
B) 158 B) 158
C) 98 C) 98
D) €0 D) 90

A tpece
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21,

22.

23.

24,

In a flower bed, there are 23 rose plants
in the first row, 21-in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A) 15
B) 18
C) 10
D) 9

The sum of the reciprocals of
Ms. Sonu's ages (in years) 3 years

ago and 5 years later from now is 1.
Then Sonu’s present age is

A) 5
B) 7
C) 8
D) 9

A motor boat whose speed is 18 km/h
in still water takes 1 hour more to go
24 kmupstream than to retum downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h
C) 10 km/h
D) 24 km/h

Value of k if the 2 roots of the quadratic
equation kx(x — 2) + 6 = 0 are equal, is

A) 5
B) 6
C) 10
D) 1

Page No. 8

21.

22.

23.

24,

o g &, o R 7 23 e 9
£, 21 qul o i €, freddfa T 198 iR
Tt R ot oft ) oifem dfeR 3 5 e
F 0§, @ o oot 3 ufRe i wem ?
A) 15
B) 18
C) 10
D) 9

T @ o7 ad 7&K 5 a¥ 9vEn
F. A% g (It ) F e A
%%,a‘tmﬁaf&mm%

A) 5
B) 7
C) 8
D) 9

wF At dre T g 9 § T 18
{5701, /e &, T8 THM TIH W G WY
24 fr Y. s 8 Feee g it @, S99 1
Hey 21ftes ur & e s o § adt
g Hnfa g

A) 6 f.aft. fae

B) 7 T4 /==

C) 10 . Ht. /e

D) 24 fasft. [

af% Rt TR kx(x —2) +6 =0
AE A E, Nk FITH 2
A) 5
B) 6
C) 10
D) 1
1 PECE



26.

27.

28.

25.

Two consecutive odd positive numbers,
such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

The value of k so that the following
system of equations 3x -y +5=0and
6x — 2y + k = 0 has no solution is

A) k = 1
B) k=1

C) k=10
D) k = 10

The value of k for which the lines
3x + 4y =5 and 5x + 4y = 4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C) 3
D) 4

Which of the following cannot be the
difference between a two digit number
and the number obtained

by interchanging the digits ?

A) 72
B) 36
C) 54
D) 48

Page No. 9

25.

26.

27.

28.

3 FHaR e garees vead 9 TE §
o 37 =1 1 9 290 €, o1 98 e §

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

k 1 9% W s forg et
3X-y+5=03W6Xx-2y +k=0H
A RS A AR

A) k 5 1

B) k=1

C) k=10

D) k = 10

k =1 98 U foraes forg d@md 3x + 4y = 5,
5x + 4y = 4 3R kx + 4y = 6 T & foig
R forewdt &

A) 1

B) 2

C) 3

D) 4

Frafafaa d d R ares @ ot firwemn
IR 37T T TAM AW F TEEM F ITEH
ot I o e o SieR T & wew 7

A) 72
B) 36
C) 54
D) 48
1 PECE



29.

30.

31.

32.

33.

The pair of linesy=0and y =-7 has
A) No solution

B) One solution

C) Infinitely many solutions

D) Two solutions

Ifx+3is afactorof x* + ax?*—bx + 6
and a + b = 7 then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,-7
D) 2,5

If x —y=0and 2x — y = 2 then values
of xand y are

A) 3,3
B) 2,2
C) —2,-2
D) -3,-3

The value of k for which the system of
equations 2x — 3y =1and kx + 5y =7
have a unique solution, is
A) k1
B) k10

-10

kz—
C) 3

D) any real value of k

A quadratic polynomial whose zeroes
are3and-5is

A) x2+2x-15
B) x*-2x + 15
C) x3-8x+ 15
D) x*+8x-15

Page No. 10

29. W y=03Ry=-7F JAH

30.

31.

32.

33.

A) @I g 7 @
B) W & ¢

C) SHATA &
D) Sigw &

A %% + ax2 —bx + M UHFTPHGES X + 3 &
Ma+b=78 MasMb FuUAF:E
A) 1,6
B) 0,7
C) 0,-7
D) 2,5

R x—y=03R2x-y=2% A x3iR
Yy A&

A) 3,3

B) 2,2

C) -2, -2

D) -3, -3

k =1 =1 AT forass fore afiemr 2x - 3y = 1
3R kx + Sy = 7 Y Yurelt 1 T e
& B

A) k=1

B) k=10

-10
K#—
C) 3

D) k T I3 STEieeh A

o fEedt sgudia ek @ 3 iR -5 §,
TR
A) X +2x—15
B) x*-2x + 15
C) x2—8x+ 15
D) x2+8x-15
1 PECE
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34. If AABC is right angled at C, then the
value of cos (A + B) is

A) 1
B) O

C)%
V3

D)'E"

35. If secA +tanA = x, then tanA =

N %
1

B) P
o) x? -1

2x

2x
x? -1

D)

36. If sin® = \f3 cosB, 0 <8 <90° then 8
is equal to

A) 30°
B) 45°
C) 60°
D) 90°

37. iftan? + cot?6 = 2, B is an acute
angle, then tan®0 + cot® is equal to

A) 2
B) 3
C) 4
D) 8

34. If% AABC, C W aushiviig §,
W cos (A+B)F AR E
A) 1
B) 0
]
C) B

V3
D)—z“

35. 2 secA +tanA = x &, & tanA =

36. AR sing = /3 cose, 0 <6 <90° ¥,

@o=
A) 30°
B) 45°
C) 60°
D) 90°

37. I tan?0 + cot?6 = 2, 6 TF A HIVI &,

al tan% + cot’d =
A) 2
B) 3
c) 4
D) 8

Page No. 11
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38. Which of the following is incorrect ?

39.

40.

1.

A) tan@ =3
B) sind=3
C) sec60=3
D) coté =3

1
If sin (A - B) = %.cos (A+B)=~
then values of A, B are respectively
A) 15°, 15°
B) 30°, 0°
C) 45°, 15°
D) 15°, 45°

If cos® + sind = /5 cos8 then
cos —sind =

A) 2 cosé
B) J2sin®
C)o
D) 1

If tan@ = 54 , then the value of

3 sind + 4 coso
3 sind - 4 cosH

2
)mmmm

A) 312
B) 302
C) 172
D) 72

Page No. 12

38.

39.

40.

41.

Fraffaa & @ - s € 7
A) tanf=3
B) sin6=3
C) sec6=3
D) cote =3

Ik sin (A-B) = %,cos(A+B)=%
2 AAIRB T AR T §

A) 15°, 15°

B) 30°,0°

C) 45°, 15°

D) 15°, 45°

af& cos + sin = [ cosd &, W
cosf —sin@ =

A) 2 cosé

B) /2sin®

C)o

D) 1

-5
g2 tand = A B, ?ﬁz
3sin@+4cos6) _
3 sin0 — 4 cosH

A) 312
B) 302
C) 172
D) 72

1 PECE



42.

43.

44,

45,

2 men and 7 boys can do a piece of
work in 4 days. 4 men and 4 boys can
do the same work in 3 days. Then

the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30 days -
D) 55 days

In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.
If a student gets 90 marks by answering
120 questions then how many questions
did she answer correctly ?

A) 96

B) 100

C) 90

D) 95

If x=asin 8, y=btan 6, then i—:-%:—=
A)O

B) 1

C) -1

1
D)E

Sides of 2 similar triangles are in the
ratio 3 : 7. Areas of these triangles are
in.the ratio

A) 9:35
B) 9:49
C) 49:9
D) 9:42

: Page No. 13

42,

43.

44.

45.

2 arett 3R 7 %% U i w4 R d
FHA B | 4 3TEH 3R 4 TEF 3w
i 3 for & o € | ) O e I
M H fF R i R g d ?

A) 50 f&

B) 60 f&7

C) 30f

D) 55 &

wh ylter d, el gl 3w foe 1 3T
o ivan B, SefE T o IW F foe
Y 3% e foran smar ® 1 afe u fereneff
T 120 T 3 I 37 W 90 3 I §Y,
a1 35 fora w1 =1 At Iw & ?

A) 96

B) 100

C) 90

D) 95
2ﬂix:asin9,y=btan9,t-?fiz-—E:-=
A) 0  d
B) 1

C) -1

1
D) P
B ol P e 3: 7 H gua H |
3 i o &l 1 STgUTa 9 g ?
A) 9:35
B) 9:49
C)49:9
D) 9:42

1 PECE



47.

48.

4. AN

49.

50.

| ' 46.

The arithmetic mean of a set of 40 values
is 65. If the 40 values is increased by 5,
then the mean of the new set of values
is

A) 65
B) 70
C) 60
D) can't be determined

The sum of the deviations of the
variate values 3, 4, 6, 7, 8, 14 from
their mean is

A) 1

B) 2

C)o

D) 10

Value oftan 1°tan 2°tan 3°.. ... . . tan 89° is
A) 0

B) 1

C) 89

A quadratic polynomial whose one zero
is — 5 and the product of the zeroes
is 0, is

A) x? + 5x

B) x2-5x

C) x2+5x+5

D) x2—-5x +1

The value of m so that 4x® — 6x —m is
divisible by x — 3, is exact divisor of

A) 9

B) 45
C) 20
D) 36

Page No. 14

46.

47.

48.

49.

50.

40 W 3 U T 1 AHiat AT 65 § |
qfe 40 91t 5 @ w1 far s, /Y WA &
T YT AT ]

A) 65

B) 70

C) 60

D) i 7 e < e

feRwm 3, 4, 6, 7, 8, 14 % f=aw=i =1
IH AT A AR

A) 1

B) 2

C) 0

D) 10

fan 1°tan 2°tan 3°. ... .. tan 89° & W B
A) 0

B) 1

C) 89

forent T Y - 5 % 3IR ¥l @ UERE
0 2, 7% fammht agudia &

A) X% + 5x

B) x2 - 5x

C) x®*+5x+5

D) x2-5x +1

m 1 98 9 o fw 42 — 6x — m
H x — 3 @ R e s w3 A 3@
Y W |

A) 9

B) 45

C) 20

D) 36

1 PECE
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52.

53.

54,

55.

51.

CHEMISTRY

Burning of Mg in air is
A) Physical change
B) Chemical change
C) Sublimation

D) Oxidation-reduction

Reaction of marble with atmospheric
humidity and CO, to form slaked lime
is an example for

A) Decomposition reaction

B) Displacement reaction

C) Combination reaction

D) Redox reaction

A compound X reacts with CO,
present in air to form Y. Y on
decomposition praduces an oxide.
The compound X is

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

Barium can displace which element
from its sulphate ?

A} Sodium
B) Caesium
C) Aluminium
D) Hydrogen

Dissolution of glucose is
A) Endothermic reaction
B) Exothermic reaction
C) Redox reaction

D) Displacement reaction

Page No. 15

51.

52.

53.

54,

55.

was e
Aefifirew =t g 1 ST @

IO i FEEEE I 3k CO, %
T TR e T ST ST @
A) Trrem arffsran =

B) fereema fsrfsran =1

C) T Afvfsean

D) rq=aiqay iR &l

ww Afv X, 3y § suffm CO, % @i
iR w0 Y wan € | foreA & We
Y T sifaaEe A= Har g | A X R
A) CaCo,

B) CaO

C) Ca(HCO,),

D) Ca(OH),

ey g o =Y I6 ek  faeanfia
FHRATE 7

A) wifemm

B) *hitem

C) Cegifm

D) TEgieH

oIS W faEeT B

A) FeTEit stiifsRa

B) FeHieasti Arufsran
C) == Ahfsn
D) foreumam fvifsean

1 PECE



56. Kurkure packet's empty space is filled

57.

58.

59.

60.

with an inert gas, inorder to prevent it
from

A) Reduction

B) Oxidation

C) Oxidation-reduction
D) Precipitation

Transparent photographic films
gradually change their colour when
exposed to light due to

A) Combination reaction
B) Thermal decomposition
C) Oxidation reaction

D) Displacement reaction

Aluminium when exposed to O,
atmosphere, formation of AL,O, is
observed. Itis

A) Corrosion

B) Rusting

C) Decomposition

D) Rancidity

When blue coloured CuSO, crystals
is heated, it gives a white amorphous
solid. This white solid is

A) CuSO,-H,0
B) CuSO,

C) CuO

D) CuCOQ,

Colour of phenolphthalein in acidic
medium

A) Pink

B) Yellow

C) Colourless
D) Orange

56.

57.

58.

59.

60.
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B) welig e
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D) e arfirisan
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B) SAT &I

C) feism

D) =i g

S i T % CuSO, Brea =i T R
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og e O 8

A) CuSO,-H,0
B) CuSO,

C) CuO

D) CuCO,
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A) Tl
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61.

62.

63.

64.

65.

Colour of Taj Mahal in Agra is
changed due to

A) Sunlight
B) Acid rain
C) Slaked lime
D) Corrosion

Antacids are used to remove
A) Body pain

B) Acidity

C) Basicity

D) Headache

Chemical compound present in tooth
paste is

A) Basic —-Ca,(PO,),
B) Acidic — Ca(PO,),
C) Basic - Ca(HCO,),
D) Salt-Ca,P,

pH of orange juice is
A) 2.00-2.35

B) 3.12-3.33

C) 3.00-3.75

D) 3.3-4.19

Acid which helps for the digestion is
A) Amino acid

B) Hydrochloric acid

C) Acetic acid

D} Citric acid
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61.

62.

65.

0T 3 dIeEd Fa ¥
o gfEffa st |

A) ¥
B) aneraat

C) W
D) G&ERW

Tfdera
WRTAE |

A) TRA &

B) suflaan

C) s

D) Rwad

Savise 7 Iufeda varaes A §
A) &g — Ca(PO,),

B) ¥i=fig — Ca,(PO,),

C) & - Ca(HCO,),

D) &= - Ca,P,

= e & fog

AR F W H pH R

A) 2.00-2.35
B) 3.12-3.33
C) 3.00-3.75
D) 3.3-4.19

G 3 WeE A qTel 3N §
A) nfiAt opa
B) SRS 3
C) whufes o
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67.

68.

69.

70.

66.

Water of crystallisation is not present in
A) Washing soda

B) Baking soda

C) Soda lime

D) Gypsum

Plaster of Paris is
A) CaSO, -2H,0
B) CaSO,- ¥2H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

Acetic acid reacts with NaOH to
produce a salt, whose pH is

A) Less than7
B) Equalto 7

C) More than 7
D) Equal to 14

The gas liberated when a metal is
treated with acid or base

A) Oxygen

B) Nitrogen
C) Chlorine
D) Hydrogen

High ductility is observed in
A) Na
B) Fe
C) Au
D) Mg
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66.

67.

68.

69.

70.

g

Toreeeieptor sia
A) G/ giEl
B) @M %1 Het (if i)
C) = =1 It

D) fiom

_ #wdidmny

R A U §
A) CaSO, - 2H,0
B) CaS0,- %:H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

wffes e NaOH & are arfufsm &t
T AGU AT &, FoE pH B

A) 7 9%

B) 7 o SR

C) 7@ 1=

D) 14 % «TeR

& uTg Y 2T ITHR F FH T AR W
o freerdt 8

A) ATFsH

B) e

C) THH

D) TRgH

e qera 9T e § |
A) Na
B) Fe

'C) Au

D) Mg
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71.

72.

73.

74.

75.

Method used to prevent the corrosion 71. wpeiifieam 3 damon i A o e e
of Aluminium & s T fafr 2
A) Galvanisation A) Neafar
B) Anodizing B) Iggr{Ehtur
C) Tinning C) fea i o =gl
D) Cathodic Protection D) Figgrism
Metal ‘A’ reacts with dil. HNO, and 72. urg‘A'Tg HNO, % Te 1ffen g
liberates hydrogen. A is FFE @S | A T
A) Mg A) Mg
B) Ag B) Ag
C) Cu C) Cu
D) Au D) Au
The metal which is highly reactive 73. =g TG St T ST
A) Hg A) Hg
B) Zn B) Zn
C) Pb C) Pb
D) Al D) Al
Among the following the Polar 74, FreataReaa 3 & g A @
compound is A) FRA
A) Kerosene B) -
B) Alcohol
C) Benzene C) =i
D) Gasoline D) Frairett
Metals can be extracted easily and 75 gl e @ oTarl
economically from AfFmsTEsaIR |
A) Mineral A) @S
B) Metallic compound B) wifer Afi
C) Ore C) =
D) Rock D) dgH
1pece



76. Metal which is found in its native state 76. 9% Tg W 37U Y w9 H g S 2
A) Pt A) Pt
B) Cu B) Cu
C) Fe C) Fe
D) Ag D) Ag
77. When brass is exposed to air for a 27, w& fiad A w8 g9a & T I & G
long period of time it turns to green 3 T S g, 9 3HH W »
due to the R B B TS |
A) Formation of Cu(OH), A) Cu(OH), ™
B) Formation of CuSO, B) CuSOﬁ‘ﬁ
C) Formation of CuCO, C) CuCOsaﬁ
D) Formation of Cu,0 D) Cu,0&H
78. Alloy used for welding purpose 28, = 3 fore e i saTeh fiserg &
consists of A) e et
A) Lead and Tin B) v 3 F—
B) Lead and Bismuth .
C) Lead and Antimony C) e ﬁ{m
D) Lead and Copper D) i AN
79. Liquid non-metal among the following 79. PfRaa § & ot g B
A) Br A) Br
B) Te B) Te
C) Hg C) Hg
D)} D) 1
80. Brass is the alloy of g0. draet __ hifumerg®
A) Cuand Sn A) Cu 3R Sn
B) Niand Cr B) Ni3afx Cr
C) Cuand Zn C) Cu3itZn
D) Pb and Sn D) Pb 3 Sn
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81. Allotrope of carbon which posses high
melting point
A) Graphite
B) Fullerene
C) Coke
D) Diamond

82. The compound gives a sooty flame on
burning

A) CH,
B) C,H,
C) C,H,
D) CH,

83. Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination
D) Substitution

84. A compound ‘A’ with formula C,H,O
possess two structural isomers.
On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

85. Poisonous organic compound present
in denatured rectified spirit is

A) Ethyl alcohol
B) Methyl alcohol
C) Ethanoic acid
D) Formic acid

81.

82.

83.

84.

85.
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e 1 2TEY R 35 T €
A) TTHEE

B) WA

C) &

D) &

e Aifires ) T T T e e o &
A) CH, |
B) C,H,

C) C,H,

D) C,H,

e 38K $Y Suferf i srehA #

g T Tl
A) T

B) ITRH

C) G 3 Frosm

D) wiceena=

o i A’ et g7 C,H,0 ?, 30%
B TS GATEd4 § | SU=aH WIE TH
spmaTar e | R AR

A) 1-T9a

B) 2-91U=ia

C) 1-dATS

D) 2-We

fga aieifie fRufe § Suftm fden
A Afrn &
A) TuTEE JTeHIBI
B) firamde swieial
C) 3oHATEH 3
D) Witk oA
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87.

88.

89.

90.

86.

Hydrolysis of an Ester in presence of 86. 3Toelt i IR & T St &1 -
alkali is called 79 FECTAT &
A) Esterification A) T
B) Saponification B) ur-ftetn
C) Substitution C) witrea =
D) Addition D) dehe
Vegetable oils usually contain 87. SR At ¥ WHTE: B T
A) Unsaturated fatty acids A) STEged TE1 A
B) Carboxylic acids B) weifaaicTh 3T
C) Saturated fatty acids C) w41 3
D) Glacial acetic acid D) =R wfes v
Hard water forms scum with soap, 88. W Tr |EH T Y IS S 8,
due to the presence of I % HROE |
A) CH,COOH A) CH,COOH
B) NaOH B) NaOH
C) Ca(OH), C) Ca(OH),
D) CaCl, D) CaCl,
Hydrophobic end of micelle is soluble 89. e =1 St 2id TEgEEA §
in hydrocarbon because it is N 2 FifF a8
A) Non-polar A) 1y &
B) Polar B) g ®
C) lonic C) Imafrh 8
D) Covalent D) weeS 8
Compound which does not belong to 90. 3 Mfirss it e Een i T
the homologous series A) CH,0
A) CH,0
B) C,H,,0
B) C,H,,0
0) CHO C) CH0
D) C,HO D) C,H,0
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91.

92.

93.

94.

85.

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination

C) Catenation

D) Polymerisation

CH,COOH + CH,0H _X_,
CH,COOC,H, + H,0 ; X is

A) H,SO,
B) NaOH
C) KMnO,
D) Ni

Modern periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev’s periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A) Group |

B) Group Il
C) Group V
D) Group Vi

The element which is electropositive
in nature

A) Sulphur
B) Silicon
C) Boron
D) Copper
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91.

92.

93.

94.

95.

I GUTOLAT o AT Hewd St | S
it et s <A Wl wead

A) TheH

B) a<=IdA

C) #@er

D) wigeiienta

CH,COOH + C,HOH _X
CH,COOC,H, + H,0; X8

A) H,SO,

B) NaOH

C) KMnO,

D) Ni

amyfe aTmad fram Lo
i @ |

A) THT] ¥
B) YR @&

C) T €&
D) Wi famam|

Heefta it amrad GRelt ® 18, 35 WA
T TR e e e E 7

A) 5 |

B) &g Nl

C) TV

D) &g Vi

7% o Tore @vE frea aae 8
A) TEHR
B) foefrlt
C) wW
D) e
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97.

98.

99.

100.

96.

Second highest electronegative
element in periodic table

A) Fluorine
B) Chiorine

C) Oxygen

D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium

_B) Magnesium

C) Boron
D) Nitrogen

The order of effective nuclear charge is
A) Li<Na<K<Rb
B) Li>Na>K>HRb
C) LicK<Na<Rb
D) Li<Rb<K<Na

Triad among the following is
A) H, F,Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is

A} Liis highly reactive
B) Atomic size of Li is less
C) Kis highly reactive

D) Atomic size of K is more i
Page No. 24

96.

97.

98.

89.

100.

anad et 6t T S forega eATeT
o

A) A

B) Wi

C) 3tieeisA

D) g

a1 QR e SO o ST
TR

A) tphifam

B) Aefiftrem

C) sRHA

D) TEEISH

TorTelt S AT o S R
A) Li<Na<K<Rb
B) Li>Na>K>RDb
C) LicK<Na<Rb
D) Li<Rb<K<Na

Fraffaa # @ =t @
A) H,F,Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH, LiOH <t sriem nifeielt & &,
THH FAU ®

A) Li aveaia rffeartie @

B) Li &l GO TR A 8

C) K areda arfirfeamsiici

D) K 51 TRV AR AT B
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101. From the following phenomenon, which
one cannot be explained by assuming

102.

103.

104,

PHYSICS

light always travels in straight line ?
A) Refraction

B) Reflection

C) Diffraction

D) Transmission

image formed by plane mirror,

|. Double the size of the object
Il. Half the size of the object
lll. Same as the size of the object

IV. Laterally inverted
A) lis true

B) land IV are true
C) Il and IV are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
bulged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C} Erect and convex mirror

D) Erect and concave mirror

An object is kept at infinite distance,
produces a bright and sharp image
on the screen kept at a distance ‘x’
in front of concave mirror, then ‘%’ is
equal to

A) Radius of curvature

B) Twice of the focal length

C) Focal length of the mirror

D) Object distance
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101. Frafefige wiEemst 4 9 «9-d =
39 IFEN % Y A€ it 5 gl fE
TRy e Wi W@ H A @ 7
A) e
B) WA
C) faadw

D) YT

102. §9a 9T R ST TR0 Sieifes
. FE F SHR A ST AW
Il =g % AT T 7 BT
1. &g 3 SATRR F S JATHT BT BT
IV. grediq e
A) | G
B) Il 3R IV acy &
C) NaRIVeaE
D) aft s #

103. =9 F IR N IR N §LIS & W
whiifeer i wpfar =1 €l ofit 38 |R-3
YR % T9% % e A s ahar @ ?
A) Jeer iR TS Tu
B) Ier 3 Iue gy
C) ditun 3R Iwa U
D) ®iuy 3K erader gdur

104. 3ra g W TE g8 0 g e qivr &
O X' g T T T WU e SR i
icifers s 8, A ‘x’ TWER §

A) Tskar it =
B) wisa gl & S
C) 4w i wiww gl
D) s fi gt
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e

105. Select correct option from the following

106.

107.

108.

about, nature and distance of the image
formed by plane mirror.

A) Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erectand at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the plane mirror

D) Virtual, erect and at a distance larger
than the object distance behind the
plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus

C) Principle focus
D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens
B) Concave mirror
C) Convex lens
D) Plane mirror

What type of mirror is used 1o get
virtual and erect image always ?

A} Plane mirror

B) Convex mirror

C) Concave mirror
D) Both A) and B)
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109.

110.

111,

112.

If magnification m = +1.5, then

A) Size of the image = size of the object,
real image

B) Size of the image > size of the object,
real image

C) Size of the object > size of the
image, virtual image

D) Size of the object is twice the size
of the image, virtual image

A pencil partially immersed in water
appears to be displaced at the interface
of air and water, this is due to

A) Tyndall effect
B) Scattering
C) Dispersion
D) ‘Refraction

Arrange following in increasing order
of their absolute refractive index.

A) Water, kerosene, glass, diamond
B) Kerosene, water, glass, diamond
C) Glass, kerosene, water, diamond
D) Water, glass, kerosene, diamond

How power of the lens is related to
focal length of the lens 7

A) Directly proportional to
B) Directly proportional to %
C) Directly proportional to +/f
D) Directly proportional to —fj.;
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109.

110.

11,

112.

AR A m = +1.58, @

A) Sfafm 1 SR = T5g 1 TR,
Tt wfafsm

B) wfafea =1 e > g T TR,
rafas wiifE

C) g 1 IR > Ufafem 1 AR, et
wherfa

D) =% 1 TR Wifeiar % TR 3 &,
ATt witfde

e & 3HifTeh #9 & oft o e amg ok
T & Y W fereenfia wid et 3,
g foras RoT 7

A) fEea
B) wehiviq
C) fgam
D) y9awiq

Frafafas =t 37 qof smadais ¥ g
w1 4 =afem fifm |

A) v, FOEH, Fig, €0

B) 0, 5w, wis, g

C) =g, FHH, 5=, g

D) 5/d, i, HH, R

w6 ) wif oi it Bieww g0 & Bw v
Hafta g ?
A) {8 e TuTgT
B) %ﬁmmﬂwﬁﬁ
C) JfQ vee gaaTet
D) %ﬁmm@nﬁ’r
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113.

114.

115.

116.

117.

Power of the lens suggested by
ophthalmologist is +2.5D, then

A) f=2.5 cm, convex lens
B) f =40 cm, concave lens
C) f=40cm, convex lens
D) f=2.5 cm, concave lens

The amount of light entering the
human eye is controlled by

A) lIris

B) Cornea
C) Retina
D) Pupil

The eye defect in which far point shift
nearer than infinity is

A) Far sightedness
B) Cataract

C) Short sightedness
D) Presbyopia

A person holds newspaper far from
his eyes to read it comfortably, then
he has

A) Cataract

B) Presbyopia
C) Hypermetropia
D)} Myopia

In dispersion of white light through
glass prism, it is observed that violet
colour bends more and red colour
bends less, then

A) Wavelength of all colours same

B) Agier > Mea

C) A'raa > A’violet

D) Bending does not depend on
wavelength
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C) g
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e g 2 ford grewr fig ora @ Frase
31 ST &

A) T gfea

B) Hifaarierg

C) Frere gfdam

D) sregge

T AR AETERYS F sl 4 v % R
AtEl ¥ T e €, O 39 2
A) Mg

B) St gfa

C) R

D) fiere gidem
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118. What is the colour of sky viewed from

119.

120.

121.

surface of the moon ?
A) Red

B) Blue

C) White

D) Black

An object of 5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15 cm, what is
the nature of the image ?

A} Real, inverted, enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A) 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is
concave of focal length 25 cm. What
is focal length of the combination ?

A) 0.01cm
B) 100 cm
C) 10cm
D) 1cm
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118. =5HT % GUae & 3@ I 11T 1 O1

119.

!
A) &=
B) fien
C) wa
D) e

15 A. 1. wiwE T It oraad du @
20 4.1, 0 g W 5 A+, i T Tt
g T &, Wi S R ?
A) IrEafie, Iee, aE TR

B) awfass, dar, Siar

_ C) sl 32, Bier

120.

121.

D) amwdt, i, sier

g # 750 TFrfiet Fo=da 9
WEHET 1.5 JqaciiH Iiet Fid h wa
AT AT & | W] Sl qTeear § e
It &

A) 500 Frfiex

B) 250 Ffiex

C) 750 iz

D) 1250 Aidtex

g1 7tE € | T 20 9. i wiw g W
Jue & 3R ET 25 A3 i wiww g
Haad & | 79 G ) B g Rt
Bt 7

A) 0.01 310,

B) 100 4.1,

C) 1o u.t.

D) 1@
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122.

123.

124.

125.

If refractive index of water with respect
to air is % then refractive index of air
with respect to water is

A) 4x3

B 3

4
4
,C)\E

D)‘E

A person requires a lens of power
—0.50D so where is his far point ?
A) 0.5m
B) 4m
C)2m

1
D) i m

Near point of an eye suffering from
long sightedness is

A) 25cm
B) <25¢cm
C) >25¢cm
D) at infinity

When 1J of work is done in moving a

charge of 1 coulomb from one point A

to another point B in a electric circuit,

then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x 10~ coloumb of charge
between point A and B

D) None of the above
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122.

123.

124.

125.

If: 1Y | S I AT % 2 S
§ 91y 1 ST &

A) 4x3

3
B 2
4
C)\/;
3
o)\/;

% =fR F -0.50D R & d9 R
STl &, T Sa g fag FEi 8 7
A) 0.5 .

B) 4.

C) 2.

D) %:ﬁ.

T uftm o T a P fag @
A) 2597,

B) <2581,

C) > 25/.1.
D) FHd W

s frega affe 1 goa smav R fag A
AfgBT AT 1UFH T e, A TE
Frefafiea @ wefifa @ |

A) féig A 3t B ¥ i 1 derer fergga wm
B) fig A 3t B & fta 1V 1 fongaier

C) fig A 3 B F #fiw 1.6 x 10" Fel
CaRCE]

D) I & | S e
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126. According to Ohm's law, V = IR

A) VaR
B) laR

C) Var
R

D) Val

127. On which of the following factors
resistance of the wire depends ?

A) Area of the cross section
B) Length

C) Temperature

D) All of the above

126. aien ¥ Frm & sgER, V=R
A) VaR
B) laR

C) Vo~
R

D) Vel

127. qRCE Sty Prafiea # 9 fra s s |
ffiwae ?

A) IR FE F G
B) T
C) qHH

D) 3wgFa @ft

128. Device used to regulate the current in 128. @ﬁgﬁaﬁ’zﬁﬁmﬂmaﬁﬁﬂﬁm Eac)

a electric circuit is ¥ Ry frn SR T A R
A) Transformer A) 3=
B) Voltmeter B) diceriet
C) Rheostat C) um e
D) Galvanometer D) feaHiHiet
129. Across a metallic conductor of non- 129. T I FE F TH aTfee =T |
uniform cross-sectlcfn, a constant o R Rparat e T | Ee e
potential difference is applied. The 3 3
. quantity which remains constant along LL &
the conductor is A) frgauma
A) Current
_ B) Wy
B) Resistance
C) Electric field C) forga &

D) Current density

D) RrE@u T =



130. In the circuit below, the ammeter and

131.

132.

the voltmeter reading are 6A and
12V respectively, then the value of

resistance R is
A IAYATAY
0= \{\/ ]

@

A) >2Q
B) =22Q
C) 2Q

D) <2Q

In a conductor, 1500 coulombs of
charges enter and 1500 coulombs of
charges exit in 5 min, then current is

A) 300 ampere
B) 5 ampere
C) zero

D) 1 ampere

Two wires of same material having
length and radii in the ratio 3 : 4 and
3 : 2 respectively, are connected in
parallel with a battery of 6V, the ratio
of currents is

A)1:3

B) 3:1

C)1:2

D)2
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130.

131.

132.

M2 fow mu wfde |, anfiex aik et
R I 778 T SR 6A IR 12V E,
AR RF AR

e
®

A) >2Q
B) =2Q
C) 2Q

D) <2Q

wF IS ¥, 5 e # 1500 FEw &
T WA & 3R 1500 Few & Ew
Frerera &, 9 frgaura B

A) 300 TR
B) 5 udhR
C) 1

D) 1 WiRR

A ver & < ar Rraehi weng i B
w1 A FA: 3 ;4 3l 3: 2% el
¥ 6V I T Al ¥ wHW § S §,
Trgaemust w1 g &

A)1:3

B) 3:1

C)1:2

D) 2:1

1 PECE



134.

133. How many 400 Q resistors are required

to carry 5 ampere of current connected

to 200 V line ?
A) 20

B) 5

C) 1

D) 10

Express which of the following setups

. can be used to verify Ohm'’s law.

» g <§,>:|
——
A
5 2 ©
|
o A

c) 2

5 0

D)é

®
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133. 200 VHr @A IR 5 TR e R
I8 T F I 400 Q % Fremt ftrerss

134.

i qEyaehal goit ?

A) 20

B) 5
C)1
D) 10
zuiieu 6, aivgw ¥ Frm % wen & fig
frfeRaa § & -9 TS T =
aFA B 7
A —(®—
A) { 3 %’)
_ |
1r
A
B)
H
R O

c) 2

3

D)%

®

1 PECE
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135. V- graph of experiments on series 135. Rume 3wk R, 3K R, @ 3
_and parallel combinations of two given T G R SERT & V-l T AR
resistors R, and R, shown below. SrEE T |
4 serles .
I T o
v parallel v THFATR
| — g [— g
; Fig. (i) TR (i)
| 0 parallel * AR
| I I
i I series i e
| > —
: V—— Ve——>
.! Fig. (ii) i (i)

P-a T e a7

Which graph is/are correctly labeled ?

A) Only Fig. (i) A) Fa ITFH (i)

B) Only Fig. (ii) B) aw TR (i)

C) Both Fig. (i) and Fig. (il C) it el (i) 3 st (i
D) 3wd¥a & & FE T

D) None of the above

136. In the given circuit diagram, reading in | 136. fam o e ot #, Aeediet g snidl

the voltmeter is LER e R
10V 10V
K 1y
Ik in S
A A
2Q 4Q 6Q i 20 40 6Q s
N VWA ~NW\ MWW\ M
{ :)-—_ ‘ —+®_—
A) 12V Ay 12V
B) 10V B) 10V
C)5V C)s5V

D) 0.833V D) 0.833V
A Page No. 34 1 PECE
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137. A wire of resistance 8 ohm is bent in

138.

139.

140.

A

D) 1A

the form of a closed circle. What is the
effective resistance between point A

andB?
B

80°

Z
0

)

g 8
oo 0

o)

An electric heater is rated at 1 kW.
Calculate the heat produced per hour.

A) 1000 J

B) 3600 J

C) 3600 x 10°J
D) 60J

S. I. unit of resistivity
A) ampere

B) coulomb

C) ohm

D)  ohm meter

Two heaters A and B, rated 200W at
220V and 40W at 220V respectively, are
connected in parallel to 220V supply.

- Calculate current drawn by heater B.

A) 0.64 A
B) 0.91 A
C) 0.182 A

138.

139.

140.
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137. 8 3iiew itkIY 910} T aR o Hige T

U e | g A B F e
e TR R E 7
B

a0°

z
0

g o =
HlWWIHA N[W WM
e} e}

o

T forega det it 1 kW i men | wfd

2T ITied ST S MO & |
A) 1000 J

B) 3600 J

C) 3600 x 10°J

D) 60J

ok 1 S. | 7S &
A) T

B) g«

C) 3ieH

D) 3w fiX

A 30T B 21 €icU AT 220V W 200W 3R
220V W 40W 39iTe T & 3K a8 220V
Y & THFIR H Sirg T’ | §X BERT
Frepreft 9 et Rrgaema & oA R |
A) 0.64 A

B) 0.91 A

C) 0.182 A

D) 1A

1 PECE*
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141.

142.

143.

In a small electric plant at your home,
45 kJ energy is generated. Then how
long you can power a incandescent
bulb of 45W approximately ?

A) 45 min.
B) 16.67 min.
C) 20.25 min.
D) 45 sec.

A student obtained following graph :

[ I

(mA)

Ol————
D= —————

V(Volt) ——

so resistance of resistor is
na2aQ

B) 2kQ

C)o02qQ

D) 20Q

Which one of the following is not true
about properties of magnetic field
lines ?

A) They come out from north pole and
go into south pole

B) They form closed loops

C) They intersect when two magnets
are kept

D) They are closely spaced in the

region of strong magnetic field
Page No. 36

141,

142.

143.

g W F 0% o1 fga ga3 § 45 kd
el Jearied Bl B | 6 3979 T 45W
A sTos T R 3 Sen T A ?
A) 45 fafie

B) 16.67 fafye

C) 20.25 fafre

D) 45 &g

T Fererreff ot freffaa o fireran @

= —————

|
(mA) .
L
2 4 6
V(Fe) ——
at wferres = wiotiy @
A) 20
B) 2kQ
C)02Q
D) 20 Q
gaehig &7 Y@t & ol ¥ gay f
FrafReg @ FR-T e TR ?
A) A 3T g9 | Frerer & ofit afioh ga i
w1 &
B) 9 i itqy s &

C) v g gk W@ 9 & Y § whrsog
EOGE
D) & wffmmeh gasha &= & aga Te-T™
W8
1 PECE
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144, In an experiment, a current carrying

145.

146.

nor the direction of the field feqm T
A Page No. 37

conductor is kept parallel to the
magnetic needle on a compass. If the
direction of the current is from south
to north then,

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

. is depend on nature of material of
wire
. is directly proportional to current

IIl. is inversely proportional to
distance

A) | and Ill are correct
B) | and |l are correct

C) Il and lll are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B} The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current

144,

145.

146.

o W, U T ates e H

HUTE R G G % TAMIR Tl S g |

af Rrgaam ) femm <fim & IW R, @

A) g w1 I g uftem ) g
W |

B) T gy wfved il ARG I |

C) § e ==l |

D) v ya & 1 iR gg i & |

e o, 9 Rggaarees ar i ekt &
i wifert

1. R % vared 1 vl w PR F B )
Il, FregaeT & e AT |

1. g @ ittt ST € |

A) 13RI ad

B) | sl il = §

C) a3 imw g

D) witwd 8

T Yo & @ T e TR
7o ot foem Poofe el ®

A) fraama i R w A & R i
AR

B) &% I R v At Rregaema A fawm
=

C) Fererema i Feam ¥ e & A fowm
L

D) 7 Rgrea A R wrRIH &R

1 PECE
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147. An electric fuse is based on

148.

149.

150.

A) The chemical effect of the current
B) The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpose of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D)} Reduce heat loss by radiation

To work properly, wind-electric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/h
C) 150 km/h
D) 1500 km/h

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy
A) i and iii

B) i, iii and iv

D) iandiii

147.

148.

148.

150.

T Torega W TR @

A) TarIaam & vamfs wa
B) Tergaemr & gadha g w
C) Frgaum & sufig R w
D) 3wgFa A & =i 7

T ST TR % U R 3 v W

& I T 39T B

A) EH % v g s F fe

B) & H 21 W yemw 9 & fow

C) afem ¥ g5 9 & 45 & g

D) faferoor g/ oo s TR FH A F
forg

il it e e 3 o, v e o
LT T < o ifg 1
TR |

A) 1.5 .4, /da

B) 15 .t /g

C) 150 f&.ft. /e

D) 1500 f&.4. /eer

frefafen § @S- oo g A <t
S 8 7
i. TR it
ii. Ia Fett
iii, SR St
iv. PR S =i
A) ii 3 iii
B) i, iii 3R iv

D) i 3 jii
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Answer Key for 1 PECE (Set-A)

Q. No. | Answer Key Q. No. | Answer Key Q. No. | Answer Key |
1 C 51 B 101
2 A 52 C 102 C
3 A 53 D 103 C
4 B 54 A 104 C
5 A 55 A 105 B
6 B 56 B 106 D
7 C 57 B 107 B
8 D 58 A 108 D
9 B 59 B 109 B
10 A 60 C 110 D
11 C 61 B 111 A
12 D 62 B 112 B
13 A 63 A 113 C
14 A 64 D 114 D
15 C 65 B 115 C
16 A 66 B 116 C
17 B 67 B 117 C
18 C 68 C 118 D
19 B 69 D 119 A
20 B 70 C 120 B
21 c 71 B 121 B
22 B 72 A 122 B
23 A 73 D 123 C
24 B 74 B 124 c
25 A 75 Cc 125 B
26 D 76 D 126 D
27 A 77 c 127 D
28 D 78 A 128 Cc
29 A 79 A 129 A
30 B 80 Cc 130 Cc
31 B 81 D 131 B
32 C 82 D 132 B
33 A 83 A 133 D
34 B 84 Cc 134 A
35 C 85 B 135 C
36 C 86 B 136 Cc
37 A 87 A 137 B
38 B 88 D 138 C
39 c 89 A 139 D
40 B 90 B 140 C
41 A 91 C 141 B
42 B 92 A 142 B
43 A 93 C 143 Cc
44 B 94 D 144 A
45 B 95 D 145 C
46 B 96 C 146 C
47 Cc 97 D 147 C
48 B 98 B 148 D
49 A 99 D 149 B
50 A 100 D 150 C




